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/
Kmple 1.15. (PSI 1.3.7) An urn contains four colored balls: two orange and two blue. Two balls

are selected at random without replacement, and you are told that at least one of them is orange. What
is the probability that the other ball is also orange?
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Example 1.16. (PSI 1.5.9 - modified) There is a new diagnostic test for coronavirus that occurs
in about 10% of the population. The test is not perfect, but will detect a person with the disease 95%
of the time. It will, however, say that a person without the disease has the disease about 20% of the
time. A person is selected at random from the population, and the test indicates that this person has
the disease. What is the conditional probabilities that the person actually has the disease?
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